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1. Factorise ol x 22
@ x*-y +2x+2y 2. Sxmpryx -

-1 x+1 x*-1
i) 2x*+54 ‘
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3 n
) -1
Figure 1.2 o 1 5= ). find the value of §
. e
‘ in simplest exact form when a=2,
Jf\ n= 4, r= ﬁ' .
45

Use Pythagoras' Theorem to find
the value of x in simplest exact
form.
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5, Solve simultaneously 6. Solve |
x+4y-11=0 @) |2x-1|=4-3x
3x—2y+9=0 (i) —2<3-x<4




2 Unit - Basic Arithmetic & Algebra - Review Paper 2 Page 4

7. Sol x _ 3 8. Inarectangle of area 4 cm” the
A e T width is x cm and the length is
2 cm longer than the width.

(i) Show that x*+2x-4=0.

(i) Find the dimensions of the
rectangle in simplest exact
form.
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1. @) x*-y'+2x+2y
=(x=y)(x+y)+2(x+y)
=(x+y)(x—y+2)

@) 2x°+54=2(x"+3°)
=2(x+3)(x* =3x+9)

X 2 2
-1 x+l x-1
_x(x+1)=2(x=1)-2
T (x=1)(x+1)
X -x
T (x=1D(x+1)

_ x(x-1)
(x-1)(x+1)

X

T (x+1)

3. Using Pythagoras' Theorem,
445 = (545)
x*+5=16%5
x*=175

5. x+4y-11=0 0
3x~2y+9=0 2)
Take (1)+2 % (2) to eliminate y:
x+4y-11=0
® 6x-4y+18=0
Tx +7=0
x=-1
Substitute for x in (1) :
4y-12=0
y=3

wx==1, y=3

6. () |[2x-1|=4-3x
Since LHS 20, RHS 2 0. Noting

this restriction on x, we can square
both sides.

3x<4 and (2x-1)*=(4-3x)
(2x-1)-(4-3x)*=0
(3-x)(5x-5)=0
B3-x)(x-1)=0
x<4 and {x=3 orx=1}
1

S X

(i) 2<3-x<4
-5<—-x <1

55 x >-1
-1< x <5

7. x_ 3
x+2 x+4
x(x+4)=3(x+2), x#-2, x#-4

x2+4x=3x+6

x.2+x—6=0
(x+3)(x-2)=0
Sx=-3 or x=2

8. The sides are x and x + 2.
() Areais4 = x(x+2)=4
X +2x=4
x*+2x-4=0
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(i) Using the quadratic formula :
-b :i: JA
A b2 4ac
=4-4(-4)
=-4 =20

X =

_-2i2«/§
—
2(~1£+5)
A 2
sx=-1+5 or x=—1—\/'5__
Butxcmisalength = x20
Lx==1++5, x+2=1+45
Hence the dimensions are

(—1+«_/§) cm by (1+«/§) cm.

x=




